AQAK

Marked candidate answers

Level 3 Mathematical Studies

Introduction
This document shows a selection of different candidate answers from paper 1 of our specimen
assessment material. Each answer below received full marks.

Pete wants to buy a house,

His annual salary is £60 000 .
The bank will lend him 3 times his annual salary for a mortgage.
This is 90% of the house price.

What is the price of the house?
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Pete wants to buy a house.

His annual salary is £60 000 .
The bank will lend him 3 times his annual salary for a mortgage.
This is 90% of the house price.

What is the price of the house?
[3 marks]

ya)
_ 000 33 = (30 000V goa 37 1PN
-Wyuu [

— - rdj.-fl :
. 1
€0 00O . ¢209 ooo K

e | LT "I‘ w )

: A

1

AQA Education (AQA) is a registered charity (number 1073334) and a company limited by guarantee registered in
England and Wales (number 3644723). Our registered address is AQA, Devas Street, Manchester M15 6EX.



AQAK

Estimate the number of heartbeats an adult human has in one year.

Show details of your assumptions and calculations.
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Estimate the number of heartbeats an adult human has in one year. l_l
Show details of your assumptions and calculations. ,
[5 marks]
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Sam invests £1000 in a savings account.
The compound interest rate is 4% each year.

How many years will it take for the yalue of his investment to double?
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[3 marks]

Sam invests £1000 in a savings account.
The compound interest rate is 4% each year.

How many years will it take for the value of his investment to double?
[3 marks]
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Estimate how far a human being is likely to walk in their lifetime.
Show details of your assumptions and calculations.
[6 marks]
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Estimate how far a human being is likely to wal_k in their lifetime
Shaow details of your assumptions and calculations.
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